Aoknon pe KDCs [exercise with KDC]

H Alice €TTIBUpEl va ETTIKOIVWVNOEI ELPTTIOTEUTIKA PE
Tov Boris péow piag aAuaidacg 1piwv KDCs (Alice's
KDC — CIA KDC, éva KDC T1Tou €x€l Kolva KA€Id1a
1000 e 10 KDC 1n¢ Alice, 60 kail pye To KDC Tou
Boris — UN KDC, ka1 TeAikdd 1o KDC TOU Boris —
KGB KDC). AwaoTte oxnuaTika Tnv akoAouBia
YEYOVOTWV TTOU €ival ATTAPAITNTA YIA TNV
QTTOKATAOTAON TNG ETTIKOIVWVIAC.

[Alice wants to establish a confidential
communication with Boris through a chain of 3 KDCs
(1. Alice’s KDC — CIA KDC, 2. a KDC having
common keys with both Alice’s KDC and Boris’ KDC
— UN KDC, 3. Boris’ KDC — KGB KDC). Give a
diagram showing the sequence of steps required for
the establishment of communication].
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